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Here; his conception was not in holiness, but his birth was in holiness

Overview

The xm3 cited a contradiction between two n»1wn,' regarding one who borrowed
money from a 73 whose children were 7in1 together with him, and the 93 died.
One mwn rules that if he pays back the loan to the children of the 73, the o251 119
1s 7a2°7 M3 X and the other 71wn rules that 122237 7M1 2°»on M. The X1l resolves
this contradiction, saying one 7wn is in a case where W79 1077 of the children
were Tw17p2 Xow,” and the other Twn is discussing a case where Y1TPa ROW NN
N7 Aw1Tpa.’ There is a dispute between *"wn and mMpoIN as to which mwn is
discussing which case.

- 931250 NN DNAN M1 N “D0Pa Y
“"'w1 explained that in a case of T TP2 N TWITRPA XPW I, then 20m2m 119
IR M.

mooin disagrees with *"w and asks:
= N9 MOINT NT2IY 22) (x,0np Nana xa3) HNIY I PI92T NI

And it is astounding! For in n»w s» P99 regarding 710°R the 93 -
= P93 Y129 N9 23 91 %9YN 10951 1YY N

Who had deposited by 829 thirteen thousand 2°17, meaning as a deposit (not a

loan) -
=919 117 11INY 9999 29 9NPY 959N N2 9INP 29YW NP 25

When X772 710°K was about to die (and X217 had not returned the deposit yet [he
still had it]), so 21 said; ‘how can 9% 29 (the son of X71°1 M0°X) acquire these

27, ete.’ (since they were in the possession of X27) -
=192 MY NYYY NN NON 54 93 591 399 DYWY N¥Y RY X291 SynpYn

!'See (X) 2,1 0”37 M.

% This means that when the 73 was 7°"n3 (with his children) his children were already born (as 0”13).

? The s wife was pregnant when they were 23n3; the child’s conception was when the parents were still 23, but
he was born to a Jewish mother, for they were already 073 when he was born.

7y o' [and P& 71"7 2,1°]. See “Thinking it over’.

> At the conclusion of the X7»3 there, Xp*X 27 suggested that X713 110X could admit that the money belong to > 27
(this is called a ¥n°7X 1°1p); this actually happened and the X743 relates that X271 was upset, saying; ‘they teach people
tactics and cause me to lose money’. This indicates that X217 did not want to return the money to >7» 2.

® 519 was the daughter of PXmw, who was taken captive, and conceived ¥ 27, before MIO°X was 7°°3n1 (see  '0IN
wUR).
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It seems from the X713 there that 829 did not want to pay ®m9 22 577 29 (the son

of X713 Mo°X) the thirteen thousand 2°11, but rather X217 wanted to acquire them

for himself’ -
= 139910 NN DN NI NNNY NN NI XY 9 NHVYM

But now can we say that 27 did not want that it should be 1%%7 73m11 2251 711 -
= MN DYITPAINTD NYITHA XDV 1NN YN 932 %919 29990V

For ®mm =2 1 29 was a case of mR7pa 7™ aw7pa X9 N7 and according to
"7 in such a case if one pays back the son of the 91 it is 12%°7 7M1 07207 M7, so why was X237
reluctant to repay 217 72 > 297?!

mooIn offers an answer for >"wAD:
= 931351 NN 099N NN PN NIV 1Y AWIYY NINIDN 22)DT O 13929 99IN)

And the n''s says, that regarding a loan where the 73 did the Jew a favor, by

lending him money, then Y1257 511711 @221 M9 PR, if the Jew does not repay his children

[who are 7w1Tp2 1072 (and W00 7ma odn M if he pays them back)] -
- N30 HNN Ny DdYNRY

Since he is repaying goodness with bad; the 23 helped him and he is not paying it back -
= DYDY NIV NI NATTINY NN PTPO ONN VAN

However there by X7 70°X there was no loan, it was a deposit, and on the

contrary it was X29, who was inconvenienced to watch them. x-v3 110x did no
favor to X27; it was X271 who did a favor to 710°X; in such a case even if the son is w172 INTY, it
is not necessary to return the money and the 0°»5r1 will not be upset.

The >"7 disagrees with the n":
- 811‘1?97 M5 192 595 PUNY PN 13349Y NN PNY

But the >''% does not see any reason to differentiate between a loan and a

deposit; the rule should be the same by both -
= AYITPAINTID NYITPA NIV 1NN WD PNY 199290 NN NON

But rather it appears to the >''1 that the explanation is that in a case of X2 197

STRNTRR INTOY TRTRA, the rule is that if he returns the loan (or deposit) to the son -

= 1392%0 NN 020N M PN
1757 711 251 M7 PR (only by AwTRpa XOW INTD NMIA ds it 1T AmMI 2o mA; the exact
opposite of *"w19). The reason why by 721772 W02 we say 1327 7M1 2730 M PX -

7 Since *n 21 was 7w1TPa ®9w Inn (his father [190°K] was still a ™), he cannot inherit his father (even though his
mother was Jewish), so the assets of 710°X become 757 when he dies, and X217 wanted to be 721 the thirteen
thousand 2°17 from “poi.

¥ On the contrary; if one is obligated to return a loan, which is not 1"v2 (the money was spent), surely one should
return a 1N7pP9, which is 1ya. See R"av™.
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- 29123 HNIYS DYDY 5919MIRY SNNY INIWI 1PN 219D NINY 395
Because this son who was w1792 7713, is close to be considered a ®X=w°, and we

may come to confuse him and declare him a complete Jew (which he is not) -
$YITPA ONTIDY DN NNPAY PARD NY NPIPT NINRY 199N AN NYUN 0% ON)

And if he will be 22 his brother’s wife, people will say that the 712’ is no

more 7?27 to his brothers, whose an7"® ana17 were @72, However if he was
TP ROW T 1A, then there is no problem with returning the loan ( 7M1 237 M9 7277R
112°77), for no one will assume that he is a 713 PXw°, since he was born a M.

Summary
According to >"wM if one returns a loan to the 77 j2 who was w17pa RoOw N7

TR AT then 320 M3 2o M0 [but only a loan, not a 117p5], however if he
was P2 X?W N7°91 N7, then 10 Ml 200 MmN 7X. The "7 maintains the
exact opposite; since by n17p2 1N7T°H, we may mistakenly assume that he is a x>
A

Thinking it over
From where does '0in derive that *"w9 maintains 11%°7 M3 2220 M is by 77

aw7p; ' from N7 7"7 2"wA (where he writes "3 YRIw A5’ it seems that he
agrees with "1 w170 (these are almost the identical words that the >"9 uses)'!

? The 72 had one son (3123%1) who was 7172 179 Tw1TRPa ROW InT; after his N17°3 he had two more sons (1Ww»w and
°17), who were w172 on7°?) onA. PR married 971 and died without children. 17 is now 212°% apps. If 1287 will
be 02*n (or y2I1) her, people will mistakenly assume that she is no longer a woman who is 012°2 7Pp7 (since we saw
that the loan was returned to him that indicates that he is a 713 ?X7w), when in fact the 0127 or 7%°%1 of J721%7 is not
effective (since he was nw17p2 Xow 1N17), she requires 212° or Y71 from M2 who was 7172 N1 A (ust like
NYRw).

10 See footnote # 4.

" See x"wmn.
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